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Explain the lesses in transformer and drive !hs:)
expression of maexunum efficiency of transformer. /

 —

A delta connecied balance load is connected to 3¢,

400 V supply. The load Pf is 8 lagging. The line

current is 34.64 amp find the following:

(a) Resistance, Reactance and impedance of the
load/ phase

(b)  Total pcwer

(c) Total recactive V-amp. Draw the phasor
diagram showing all quantities

Explain the following in brief:

(1) Auto transformer &=
(i)  3-¢ power—

(iii)  R-L-C series N/w
(iv)  D.C. Machine .,

3.

m—

5. Explain the Thetenin’s theorem and determine current
I for the network shown in fig.
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6. Explain the general layout of electrical power system

and funcuons of each element.
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